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Q. Nos. 10 - 13 carry 4 marks each | ‘ 4x4 = 16
Q. No. 14 carries 6 marks - 6x1= 6
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PART-A /T-SH
1.  Answer the following : : 1x6=6
TE TR Ol fudl ¢
(i) Define personal disposable income.
FfEsTe A S Fiee 7l |
(i)  What is the primary .objective of commercial bank ?
T @R Al Srp 62
(i1i) Net indirect taxes are estimated as B
b AT 39 T —
(n) Indirect taxes + Subsidies
AT ¥ + AQYY
(b) Subsidies - Indirect taxes
HIRE] - AT 9
(¢) Indirect taxes - Subsidies
AT T - A
(d) Both (b) and (c) ;
(b) SN<e (C)m o '
‘ (Choose the correct option)
(u% [ReF [619 31)

(iv) Give kwo examples of capital expenditure of the government budget.

SIS AR AL JIR 7o Swizae i |
(v) What type of budget should the government prepare during inflation ?
- U ISR SIS BB (IR G0 AFS (& &l ?

(vi) Inordertoencourage investment in the economy, the central bank will
adopt which of the following measures ?

A ifes A Teoze ke AE @ T QUF o1 @Wﬁ HRCF IR

T e ‘

(1) Increase cash reserve ratio
AW IR et Jia T

(b) Reduce cash reserve ratio,
6 FALTENR S ZH FRQ
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(¢) Increase bank rate

([T T I Sl
(d} None of the above
N Se QORI
(Choose the correct option)
(o% [Aed [B619 1)
2. Answer the following : 2x6=12
OO e Tl ¢
(i) A firm produces goods of Rs.500 per year and uses/intermedi&e goods

(i)

33T ECON

of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate

gross valueaddition and net value addition by the

firm.

G4 ATV IR 500 THR T TLAWH (I W% 2AR A 250 TF JER
TGTS| ¥ AL IS | T 2@ SEwa AR 20 T 9¥, (o AfciadTs

pel SIG"U ﬁ\mrcﬂ I ﬁuﬁ &) ALCATG 9leiw ?n—q'r |
OR/&1%a

What do you understand by the ploblem of double counting in the

context of national income accounting ?

TSI S 91T 21R ?i—?%“ﬁmﬁ“ﬂﬁﬂhcﬂ%gﬁW

Calculate national income with the following data.

B4 O FHAS SIS 1F SN siei) T |

GDP at market price : Rs.830 crore
%18 we© GDP : Rs.830 (&I

- Depreciation : Rs.120 crore

Y ¢ Rs.120 (D

Net indirect taxes : Rs.70 crore

T *[tarF 99 ¢ Rs.70 &I

Net factor income from abroad : Rs.40 crore

ﬁtw 29 R Teoma oy ¢ Rs.40 &I
OR/@%d1

Dxfferenhate between nominal GDP and real GDP.

NG GDP SR 85 GDP J #A123g &4 |

[31]
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(iii) Write two objectives of government budget.

SRS ACE6 Fo) Srwey fora |

(iv) Write fwo differences between révenue expendlture and capital
expenditure. :
IETZ I R JEHN AT 7O #itd fovat |
OR /=4l

What is revenue receipt ? How it is different from capital receipt ?

Aoz =AY 2 2 oAl 2AifeT [l @G 53

(v) What is deficit demand ? Write one cause of deficit demand.

ﬂﬁﬁ/‘aﬂ%mﬁmﬁs 2 Gby TR6 TR 4|
OR /G2t

What are the factors that affect investment demand in an economy ?

w2 e’ [iist sifznie geifds <€ 9 @201 & &2

(vi) Write two merits of fixed exchange rate.

e R ges gy aRa o
OR /S
Define spot and forward exchange rate.

iR woeFas 31 @i 9ot R e

3.  Explain the expenditure method of calculating national income. 4
TS IT T S9N I AR SCo! AT 41 |

OR /=<7

Discuss the circular flow of national income in a two sector economy.

fBde SYRIfce TRo™ AT 5Ee 21T SETE F4 |

4.  Discuss the functions of money. : 4

TR IR G 4 |

5. Thereisa plan to increase national income from Rs.1500 crore to Rs.4000
crore. If MPC = 0.6, then what should be the change in investment to achieve

the goal ? 4
GRS @I T T Wl RsloOO (I =T #1F Rs.4000 @rﬁmaqf%w

sifFesm 91 ez ez MPC = 0.6 23, maiw—%ﬁ—wwﬁsm
“ifIeR T fFcaeR graes 292
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OR/%g4t _
What is marginal propensity to consume (MPC) and marginal propensity to
save (MPS) ? Show that MPC+MPS5=1 1+1+2=4
olifes Toretl 2zest (MPC) W% eif$s eew wxeel (MPS) e (rdedl (@
MPC+MPS=1 |
6. Outline how equilibrium exchange rate is determined in free market system.
& ISR IS Sy [T g9 RdRe afammit siis &
~ OR/9I4
Write a note on ‘balance of payment’.
‘AR Frers Jacw «fe i &
- 7. Discuss the working of investment multiplier with example. 6
RifFcaist e S Triegesg SETe 54 | o
OR/&¥dr

Explain diagrammatically how equilibrium level of employment and income
is determined in a two sector economy with the concept of aggregate demand

and aggregate supply.
fade SLIfow e oifzat o< Aufds cr Wﬁﬁ'ﬂm— WWW

mﬁmmmﬁmqaﬁamﬁmwaﬂwnWI

PART-B / SECO

8.  Answer the following : ‘  1%6=6
O 2T Oed a8 |
(i) Whatis poverty line ?
wife Fics e
(il) Name any two Navaratna industries.
Rz 757 7999 Sriai [ fora |

(iii) 'Who is known as the architect of economic planning in India ? |
T oReRde AT HAfREar it 3 I T A e
(iv) What do you understand by jobless growth ?

iR Traw e e e

(v) Name two unconventional sources of energy.

e FO! AT TeH AN o7l |
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(vi) Which of the following is a cause of ozone layer depletion ?
CEE (FIFCE! G T AL GBI B 2
‘(@) Noise pollution'/ =% &7ge '
(b) - Air pollution / g &wIq .
()" Water pollution / && 4739

(d) None of the above / 873 «GoNe 2
(Choose the correct option)

(o% [RFw [R5 71)

9.  Answer the following : 2x6=12
T TR TR a8 :
(i) . Write two objectives behind infrastructure development in India by the
British government during Colonial rule.

| uﬁﬁmﬁawm—ﬁﬁzwwwmﬁmmw 75! SR

fe=n
(i) Write two objectives of NITI Aayog.

. NITI ScaeR 767 oy & |
OR /<4t
Write fwo factors that necessitates the 1nt'roduct10n of economic reform
in India.

- SREIA] TGS TR ACTCHITOR 757 et &7 |

(1iif) Correctly match the two sides of the following table :

T IR O e ST R 2
Country Rank Based on Human Development Index 2022
o 2022 5% R R I3l fefee M
India/©RE | 79 '
China/$W 129
Pakistan/#If&ZR R
Bangladesh/ &0 16l
(iv) Write the full from of AYUSH.
AYUSH 3 579 ot feqali |
OR /@241
What do you understand by medical tourism ?
et 1o Ife & @ e
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(v)  Write orne positive and one negative impact of globalisation in the Indian
economy.

O ST R 57 €I 1% 57 el eroi 27l |

(vi) Write two differences between formal .and informal sources of rural
credit. '

21T T AFBIAE s SO T 757 oftefas Bt
Write the features of the Industrial Pohcy, 1956. 4
1956 519 Traiifaie Tifeq (Af¥ereeg fora |
OR /%t

Briefly discuss the problems faced by the Indian agrlculture sector in pre-
reform period.

ARF-TRFT FIeTO SO T QS FAYIN (A TR FACHCA AL 3541 |

Discuss fow important causes of poverty in Indla : 4
OReILR MRTOR 515! T2 TR ST 1 | - '

Write a note on condition of health infrastructure in India. - 4
Wwwﬁwﬁawﬁmaﬁ CoTt ferar )

OR /@41

 What is workforce ? Write the causes of low workforce participation rate of -

female as compared to male. 1+3=4

- G 2 /5T Temre wfEER e rmmmﬁﬁ R IR forail |

Write a comparative note on the contribution of agriculture, industry and
service sectors to the respective economies of India, China and Pakistan. 4

I, 5IH i1 S St (Hea i, Trist o< (il QST SoACHET
I3[4T B! PERITETE (I 2ES T |

| OR/=41
Brleﬂy describe the path of economic development of Chma

51 TS Taae e R o ada 4t |

How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India ? 3+3=6

Wa_ﬂw—aﬂﬁwmmﬂ%ﬂmw@w*@?@ﬁ—wwm

SIOR LY TP

.OR /&1

‘Discuss how agricultural activities can be diversified. | 6

TR R g/ @bl Fiwa AR esto 54 |
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